February 28th 5-a-day Numeracy

Write 2 metres in centimetres

A00cm

Write 3.4 metres in centimetres

W 0em

What is the probability of selecting a
C?

C—

S

There are 5 letters.
The probability of a N is 2/5
The other two letters are O and R.

R is more likely than O.

What are the letters?

NVRRO

Ann is 30 years old.
Ben is 7 years older than Ann. Q]
Colin is half of Ann's age. 1)

Dave is two years younger than Ben a‘

What is the sum of Ann, Ben, Colin and

Dave's ages. 3 0

Draw a hexagon on the isometric
dots.
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Calculate the distance between

(1,3) and (4,10).
)

Leave your answer as a
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Shown is a histogram.

Complete this table

Time, 1 (minutes) D<res | S<i<20 W<r=<30

B ‘Numbcro(shopptn: 6 a‘ ,;'

Estimate how many people took over 25

2.5 /82

- | minutes.
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EC-Jntys™-

dogs’ fMO=-l§3:

3 g- 2. 0'1"




